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General Instructions :

(i)

(iii)

(i)

Preparatory Course in Mathematics (OMT-101)  Questions 1-50.
All questions are compulsory, each of which carries one mark.

Each question has four alternatives, one of which is correct. Write the Sl. No. of
your correct alternatives/answers below the corresponding question number in the
answer sheet and then mark the rectangle for the same number in that column. If
you find that none of the given alternatives is correct write 0 and mark in
column 0.

Do not waste time in reading the whole question paper. Go on solving questions
one by one. You may come back to the left out questions, if you have time at the
end.

No Calculators are allowed.

armr e

A= MifvTe B urifiver waEeRd ( SiTEE-101) weT 1-50
ot ye TP §1 T g W A O ol frd R

e T 3 Y =R faehed ¥ fd € T W ¥ 1 S gfkas H e W@ Sel/ faehedl i o
o9 TE ¥ ) ferd oiR fire St of 3 et R SH Hiem B fog @l | oTR s i R e ot
faey Td i & 0 fog oft wfem 0 9 Tag ol

TR G774 1 T2 F TG FalE T FIACI Th F 918 TF T hl W TR fz 9g ¥ 979 |,
T I T YT B g 3@ ST A R

Segorell 1 wan # oA = R
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1.  The value of —1_69 X %] is:
-3 — 4 -9 -2
) 35 @ 75 () =5 4
2, (=3)74=
-1 1
(1) -12 @ 47 3) 81 4 37

3. What number should be subtracted from [;5%] to get (—2) ?

- y 13 5 1 o Z

o @ ®) % @ 3
4. If four fifth of x is greater than three fifth of x by 4, then x= .

1 12 (2) o4 (3) 80 4y 20
5. wis:

(1) rational (2) an irrational (3) imaginary (4) an integer
6. (0.04)% = .

(1) 0.2 (2) 4 (3) 0.02 4) 04

7. The difference between Compound Interest and Simple Interest on Rs. 600 at 5% p-a. for 1
year is :

(1) Rs. 10 (2) Rs. 25 (3) Rs. 50 4) Rs.0

8.  If marked price of an article is Rs, 380, and discount is 25% then the selling price is :
(1) Rs. 275 (2) Rs. 285 | (3) Rs. 265 (4) Rs. 355

9.  If 36 men can do a piece of work in 25 days, in how many days will 15 men do it ?
(1) 50 (2) 56 (3) 60 4) 72
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10.

11.

12.

13.

14.

15.

16.

17.

18.

The value of 10.2x 9.8 is :
(1) 98.96 (2) 99.6 (3) 99.92 (4) 99.96

The bisectors of any two adjacent angles of a parallelogram intersect at

(1) 30° (2) 45° @) 60 4) 90°

45% of 240 is
1) 53 ) 84 (3) 108 @) 118

How many different factors are there for the number 48 excluding 1 and 48 ?

1y 12 2) 4 (3) 8 4 9

The sum of all even numbers between 10 and 22 is :

1) 80 2) 100 (3) 70 4) 68

The 7th term of G.P. 1, l, l, i—, ............ is :
379 27
1 1 2 1 3 L 4y 729
(1) 243 @) 81. (3) 729 ‘()
. . 1

Which of the fraction is less than 5 ?

s B 5 B 5 B o B
- @ 35 (2) 37 (3) 41 (4) 39

The difference of 64.7 and 6.9398 is ‘

(1) 30.76 (2) 56.872 (3) 57.7602 (4) 71.6398

The least common multiple of 6,9, 12, 18 is :

(1) 18 (2) 36 (3 3 4) 72
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19.

20.

21.

22,

23.

24.

-25.

26.

27.

Which ratio is equal to 1% 127

2
2) 4:6 G) 37

win

5 4y 8:11

N =

(1)

Which one of the following statements is not true ?

(1) Mathematical statements are unambiguous.

(2) Mathematical ideas usually grow from concrete situations to abstract ideas.
(3)  There is only one proof of a theorem.

(4) Mathematics is hierarchically structured.

A watch is sold for Rs. 825 at a profit of 10%. Its cost price is :
(1) Rs. 905.50 (2) Rs. 742,50 (3) Rs. 750 (4) Rs. 835

One of the angles of a triangle is equal to the sum of the other two. If other two angles are in
ratio 2 : 3 then the angles are :

(1) 90% 367 54 (2) 40°,50° 90°  (3) 30°, 60°, 90° (4) 38, 57°, 85°

The difference between the upper and lower limits of a Class Interval js

(1) mid point (2) size (3) class mark (4) range

A solid cylinder is melted and casted into a cone of same radius. The hej ghts of the cone and
cylinder are in the ratio :

1 9:1 2 1:9 3) 3:1 4 1:3

The sum of the first 10 terms of the A.P. 15, 17, 19, 21, ... is :
(1) 400 (2) 168 (3) 540 (4) 240

In a square ABCD, AB= (2x+3) ¢cm, BC= (3x —5) cm then the value of x is -
(1) 4cm (2) 5cm (3) 6cm (4) 8cm

Two complementary angles differ by 16°. The angles are .
(1) 53,37 (2) 56° 40° (3) 62°, 28° (4) 59, 31°
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28. If the radius of a circle is tripled then area is multiplied by :
1 1 2y 9 (3) 27 4y 16

29. A number is selected from numbers 1 to 25. The probability that it is a perfect square is

3 4
W 5 @ 5 ¢ = @ 3

30. The measure which takes into account of all data items is :

(1) mean (2) median (3) mode (4) range

31. If the distance between the points (4, p) and (1,0)is 5 then p is :
1) =4 2y -4 (3) 0O (4 2

32. The curved surface area of a cone of radius 3 cm and height 4 cm is :

(1) 9w 2) 15w (3) 4w (4) 127

33. The alphabet F has :
(1) one line symmetry (2) 2 lines of symmetry
(3) 3 lines of symmetry (4) no line of symmetry

34, IfP(10,1)=2P (9 1) thenris
1 2 2 4 3 5 (4 6

1 1 1
35. IfP(A)=7 P(B)=7 and P(AUB)=F then P (ANB) is :

1 3 1
o 3 @ = ® 1 @ 3

36. I start from a point 3 km and turn to left and travel 4 km. How far am I from my starting
point ?

(1) 2km (2) 7km (3) 25 km (4) 5km
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37.

38. |

39.

40.

41.

42.

43.

44.

45.

If you want to borrow 4 novels by your favorite author from your friend and your friend has
9 novels, then the number of different ways this can be done is :

(1) 504 @) 72 3) 144 4) 126

When a cube of a even number is divided by 8, the remainder is :
1) 2 (2) 0 3) 6 4) 4

The value of (3 + \/5) (3 - \/5) is :

1) 4 2) -2 (3) 2 4) 14

The mode of the data 5, 5, 7, 9, 11, 7, 2,7, 11, 18 is :
(1 7 (2) 5 (3) 11 (4 2

Which of the following is not a measure of dispersion ?
(1) Median (2) Range
(3) Standard deviation (4) Variance

The area of a circle and a square are equal. The ratio of the side of a square to the radius of
a circle is

(1) 1:vw @ w1 @) V2:1 @ 1:42

From a Pile of 12 old newspapers, 5 Hindustan Times and 7 Times of India, two news papers
are picked at random-one at a time, without replacement. Then the probability that both
are Hindustan times is :

5 2 . 7 6
W 5 @ = ®) 3¢ @

The point (-3, —1) lies in :
(I} 4th quadrant (2) 3rd quadrant  (3) 2nd quadrant (4) 1st quadrant

The distance between the points (1, ~1) and (1, 5) is :
(1 4 (2) 6 (3) 5 4 1
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46. Which of the following is not a regular polyhedron ?

(1)

Tetrahedron

(2)

Cube

(3)

Cuboid

47. The middle term in the binomial expansion of (a +3)0 is :

1)

48. The coefficient of x2 in the algebraic expression —4x?yz> is :

1)

540 a3

-4

(2)

)

18 a°

yz3

49. If 5C—4-2C+1=8C+2then Cis

(1)
50. [l.xS -
3
1)
OMT-101

1

%le (- 65%)

2x6 + 3x°

(2)

()

2

—2x6 4+ 3x°

(3)

()

&)

135 at

_4yz3

5x8

)

(4)

(4)

400 a3

_4y

Paraboloid

—2x6—3x5
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-9 _ 8
1. T E] H AR o
-3 -4 -9 ~2
O T @ 45 ® =25 @ 5
2. (=3)~t=
e -1 1
1f " -12 @ T @) 81 @ &
3. [_?3] i F HE-T T =AW (—2) TR R?
~7 ~13 13 7
1 2 5 @) 5 @ 3
4, ARxH Y, xF ¥ V4R T x=_ .
1 12 2) 64 (3) 80 4) 20
5. wd: .
1) i (2) emfeE (3) HfE 4) vuls
6. (0.09)” = . ‘
1) 0.2 2 4 (3) 0.02 (4) 0.4
7. 600%. W 5% AMtF XA 194 F Thgfs = IR GUR A F1 3R T

1 1% @ 253 @) 50% @ 0%

8. uﬁ:‘@a@tﬂaﬁﬁgw%oa%aﬂimmzs%ﬁ@%ﬁrmﬁaﬁiw%:
1) 275% (2) 285 % (3) 265%. 4) 3557%

9. %36 A T FE F 25 fi H 0 F T & A 15 o) IH w1 | fran & F g i
(1) 50 ) 56 (3) 60 (@ 72
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10.

11.

12.

13.

14.

15.

16.

17.

18.

10.2x9.8 FTHA ¥ :
(1) 98.96 (2) 99.6 (3)

99.92

)

99.96

T qOHIR IS & I 91 Hora Hion % st weh g 1 RRa v W e $

1  30° (2) 45° 3)

240 1 45% 1
1) 53 2) 84 3)

48 % 1 3R 48 F Vg foraw Fm orrETS B -

(1) 12 2) 4 (3)
10 3R 22 & st ) §g FEmsi F1 9 8
(1) 80 (2) 100 (3)
11 1 o
WMI,E,E,E, ............ quam:
1 1
0 23 @ 5 3)

ﬁwﬁmﬁﬁaﬂ?—xﬁﬁm%ﬁw%?

8 8
M 3z 2 3 3)

64.7 31X 6.9398 F1 AR &
(1) 30.76 (2) 56.872 3)

6, 9, 12, 18 1 FAqH THMYEAS ¥
(1) 18 (2) 36 3)

OMT-101 12

60°

108

70

57.7602

4)

(4)

(4)

)

(4)

4

90°

118

68

729

71.6398

72



19.

20,

21.

22,

23.

24,

25,

26.

frfafea @ FH-T1 SUE 1%:2 F R 7?2

1

2 2
) 33 3

() 4:6 (@) 33:5 (4) 8:11
fpfefaa § § SH-9 FuF |96 T@ R 72

(1) T wem sfafey 39 §)

(2) TRy faam sifusrar o foaml @ ol fomrl &t oiR fasfaa €1 2

(3) VI YA F TH & ST Bt ¥

(4) Tifora Hrameg Al @ wWifEd ©

T TS W1 10% T 1Y W 825 F. W o1 S ] THH AFN YA ® ¢
(1) 905.50 %. (2) 74250%  (3) 750 % (4) 835 .

T VS 1 T 101 gEY ST 0 % A F e § 1 3k gy ST 0N 6T STIUE 20 3 8, I B
g

(1) 90°, 36°, 54°  (2) 40% 50°90°  (3) 30° 60° 90°  (4) 38°, 57° 85°

T 1 e B 5 AR F e o e Em |
(1) T fag (2) SR (3) &M (4) 9

T 319 o B fiererent TR e o A d gren S R ) viE oiR Se 1 Sandal ot ot &
1 9:1 (2) 1:9 3) 3:1 4) 1:3

FHARR A0 15, 17, 19, 21, ........ ¥ Tgel 10 981 1 AT ¥
(1) 400 (2) 168 (3) 540 (4) 240

@aﬁABCDﬁ‘AB=(2x+3)ﬁ=ﬁ.aﬂth=(3x—5)@ﬁ.%,aa’x$mﬁ%:
(1) 43, 2) 5. (3) 69 (4) 8.
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27.

28.

29,

30.

31,

32.

33.

34.

35.

Frefefea 9 4 SF-9 S0l % gm =1 9@ iy |0 2
(1) 53°, 37° (2) b56°, 40° (3) 62°, 28° 4) 59°, 31°

AT T 9 it o= Y A7 I FE A ST e e TR S ?
1 1 (2) 9 (3) 27 4) 16

19 25%&%11@@1&'@@#@1%6@% g Wiarehal o ¢ T ww qof et 3, dnih

1 3 4 1
1) 3 @ 35 G 3 @ 3

%mﬁaﬁmﬂmmmmm%
(1) W%y (2) wfegeRr (3) HgoE (4) 9fER

A forgaf @, p) iR (L ) F S F ghs5E A py
(1) =4 2 -4 (3) 0 4) 2

381, fren ofit 4 S, S At Vg F 9F T W Qe 2

(1) 9w (2) 15w (3) 4w (4) 12w
e F ¥ faw ot ©

(1) T @ & 9y Tafha 2) 2@l F 9ng gufa

(3) 3@l ¥ Wy i (4) ToREt ot Y & 9y wnfie =&

AP (10, n=2P @ EdArd
(1) 2 2 4 @ 5 (4) 6

?TEP(A)=%,I_’(B')=§31’RP(AUB)=% TP (ANB) ¥

1 | 3 17 17

M @ 3 ® @ 5
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36.

37.

38.

39.

40.

41.

- 42,

43.

H uw farg A e 0 3 et wrore € ol fr w1 g 4 e, wordt €)1 A g g A il
4 .
(1) 2 feh. (2) 7 T (3) 25 feedt. (4) 5 et

M 31 i § ST TG & ORE% % 4 T SUR 91 96 €, Foee g 9 Su=r €, @ i Fw
=1 fafim fafimat €1

1) 504 @ 72 (3) 144 4) 126

T UA §&1 F 99 61 § 4 9 9 I I9FS &R
1 2 (2) 0 3 6 4 4

(3++5) (3 V5) FHF&:

1) 4 @ -2 @ 2 4) 14

HiFS 5,5,7,9,11,7, 2,7, 11, 18 T 9§ ¢ :

@ 7 2) 5 (3 11 (4) 2
forafafaa § | H-30 v % o 76 §?
(1) wfeE (2) UfER (3) WA fa=e (4) WO

TF 99 3R & a7t = FFEE TR Bt @ o ol g =t e # eTgua g
(1) 1:Vm 2) Vw:l @ 21 @ 1:42

12 I 3@ERI ! TgE H, 5 frgeam TR $R 7 T otk gfean €)1 @ ergen fomn wigeer &
Tgeadl ford i €, @ 2 % fegwm T 39 Y wifeRar gF

5 2 7 6
1) 2% @ 33 @) 2% @ 13
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44,

45,

46.

47.

48.

49.

50.

fag (-3, —1) e ®
(1) Sa=gulEd () dWmegulEd @) W ugulE d

fagafi (1, -~ R 5 FdTaR @R
1) 4 (2) 6 3 5

frrefefes § 9 $H-91 qagHes T4 €|
(1) “dvher® 2) ¥ (3) ™

(a+3)f ¥ fTe TER %1 7oA TS 3
(1) 540 a3 (2) 18 a° (3) 135 at

SRR 2w —4x2yz3 | x2 1 TOE ?

1 -4 (2) 2 (3) —4yz’

IRE 5C—-4-2C+1=8C+2%8 ACT
1 1 2) 2 (3) -1

(1) 2x6+3x° (2) —2x5+3x5 (3) 5x8
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(4)

(4)

(4)

(4)

(4)

(4)

(4)

oot =getes H |

400 a3

—2x6—3x°
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